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Q.1 Choose the correct option.

1. Oxidation means......
A. loss of electrons . B. gain of electrons
C. loss of Neutrons D. gain of neutrons
2. Which one is the basic requirement of
photosynthesis?
A. oxygen B. carbon
C. carbon dioxide D. carbon monoxide

3. Which one is the considered as poor man S ap

A. carrot  B. raddish
4, Pepsinenzyme a @
A fats %ﬁ@z . protein  D. vitamins
nvolyed in the synthesis of glucose?

ermal B, conducting C. mesophyll  D. nervous |
6. It is the hardening of the arteries due to the deposition 1
of calcium in the wall of arteries.
A. arteriosclerosis B. atherosclerosis
C. myocardial infarction D, none of these
7. If2n=8,fora pariicular cell, then the chromosomes
number in egq cell after meiosis would be.........
A2 . B2 C.4 D. 8
8. Which one is not endangered species?

A Marcopolo sheep B. Markhor C. i @m
e P

9. The baswé ﬁ@@ \aW.}ﬁ/t ofan
organis %% f
NSM@@ B.cell C.organ D.organelle
10.Homo sapiens is the scientific name of......

A.frog  B.Makhi C.man D.amoeba |
11. Who introduce the system of binomial nomenclature?
A Linnaeus B.Al-Jahiz C.L Pastur D.R. Whiltaker
- 12, Prockaryotic cell wall is composed of ......

A. cellulose B. murine C. chitin D. none of these




